1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 1

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u> <u>Operate</u>	o <u>r</u> <u>Machine</u>	# <u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	Base Rt Per Pc	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
Account#: 0130 Name: SOE Long#: 660837 AADHT 20100 A0												
5/14/2021 1:11:40PM ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/14/2021 1:17:58PM ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 2.9	1	.860	.86		.00	.00	.00	.86
5/14/2021 1:35:46PM ADMIN	223657	Priority Mail	/ 1	0 / 13.8	1	7.700 Deliv	7.70 ery Confirm	ation Fee: (.00	.00	.00	7.70
5/27/2021 1:16:01PM ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 6.1	1	1.660	1.66		.00	.00	.00	1.66
5/27/2021 1:23:31PM ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	3	.460	1.38		.00	.00	.00	1.38
		Account Subtotals:	-	<u>Pieces</u>			Carrier Chg	<u>s</u>	<u>Other</u>	<u>Chgs</u>	<u>To</u>	tal Chgs
		0130		7			12.06			.00		12.06

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 2

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time <u>Class</u> ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs <u>Total</u> <u>Chgs</u> Per Pc Base Rt Per Pc Spc Svc Per Pc Oth Chg Account#: 0274 Name: HEALTH SCIENCE Long#: 660837|AADHT|20100|AC007||||| 5/14/2021 1:20:07PM ADMIN 223657 1st Class Flat / 0 0 / 1.8 27 1.200 32.40 .00 .00 .00 32.40

Account Subtotals:	<u>Pieces</u>	<u>Carrier Chgs</u>	Other Chgs	<u>Total Chgs</u>
0274	27	32.40	.00	32.40

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 3

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Machine# **Total Operator** Date/Time <u>Class</u> ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs <u>Total</u> <u>Chgs</u> Per Pc Base Rt Per Pc Spc Svc Per Pc Oth Chg Account#: 0383 Name: CSA SOCIOLOGY Long#: 660837|AADHT|20100|AC007||||| 5/6/2021 2:24:50PM ADMIN 223657 1st Class Auto 5-Digit Flat / 0 0 / 2.4 .860 3.44 .00 .00 .00 3.44

Account Subtotals:	<u>-</u> <u>Pieces</u>	Carrier Chgs	Other Chgs	<u>Total Chgs</u>
0383	4	3.44	.00	3.44

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 4

Includes Carrier(s): USPS,										
<u>Date/Time</u> <u>Operato</u>	or <u>Machine#</u> <u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>		<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt		Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
Account#: 0407 Name: VPA L Long#: 660837 AADHT 20100 AC	UNIVERSITY ADVISING 2007									
5/11/2021 1:40:34PM ADMIN	223657 Media Mail Single Piece	/ 0	1/ 2.8	23	3.450	79.35	.00	.00	.00	79.35
5/12/2021 1:23:19PM ADMIN	223657 Parcel Select DDU Non-Machinable	e / 0	0 / 1.8	50	3.190	159.50	.00	.00	.00	159.50
5/12/2021 1:31:51PM ADMIN	223657 Parcel Select DDU Non-Machinable	e / 0	0 / 1.8	43	3.190	137.17	.00	.00	.00	137.17
5/12/2021 1:39:01PM ADMIN	223657 Parcel Select DDU Non-Machinable	e / 0	0 / 1.8	22	3.190	70.18	.00	.00	.00	70.18
5/13/2021 1:11:04PM ADMIN	223657 Parcel Select DDU Non-Machinable	e / 0	0 / 3.7	19	3.190	60.61	.00	.00	.00	60.61
5/13/2021 1:14:27PM ADMIN	223657 Parcel Select DDU Non-Machinable	e / 0	0 / 3.7	2	3.190	6.38	.00	.00	.00	6.38
5/13/2021 1:23:09PM ADMIN	223657 Parcel Select DDU Non-Machinable	e / 0	0 / 1.7	50	3.190	159.50	.00	.00	.00	159.50
5/13/2021 1:30:59PM ADMIN	223657 Parcel Select DDU Non-Machinable	e / 0	0 / 1.7	11	3.190	35.09	.00	.00	.00	35.09
5/13/2021 1:32:44PM ADMIN	223657 Parcel Select DDU Non-Machinable	e / 0	0 / 1.7	50	3.190	159.50	.00	.00	.00	159.50
EMS Version 12.11.03								6/1/202	1 3::	38:30PM

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 5

includes Carrier(s): US												
<u>Date/Time</u>	<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	<u>ZIP / Zone</u>	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	Spc Svc Total Per Pc Spc Svc	Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
5/13/2021 1:40:02PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.7	49	3.190	156.31	.00	.00	.00	156.31
5/13/2021 1:46:59PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.7	30	3.190	95.70	.00	.00	.00	95.70
5/13/2021 1:52:44PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.7	40	3.190	127.60	.00	.00	.00	127.60
5/13/2021 1:55:59PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.7	37	3.190	118.03	.00	.00	.00	118.03
5/13/2021 2:00:54PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.7	3	3.190	9.57	.00	.00	.00	9.57
5/13/2021 2:04:55PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	2/ 7.4	9	3.400	30.60	.00	.00	.00	30.60
5/13/2021 2:06:40PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 7.3	2	3.190	6.38	.00	.00	.00	6.38
5/18/2021 10:22:57AM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.7	50	3.190	159.50	.00	.00	.00	159.50
5/18/2021 10:30:45AM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.7	19	3.190	60.61	.00	.00	.00	60.61

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

CARSON CA 90747

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

.00

Page: 6

1,631.58

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Machine# **Total Operator** ZIP / Zone Date/Time <u>Class</u> <u>Lb / Oz</u> Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs <u>Total</u> <u>Chgs</u> Per Pc Base Rt Per Pc Spc Svc Per Pc Oth Chg Pieces Pieces Account Subtotals: Carrier Chgs Other Chgs Total Chgs

509

1,631.58

0407

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Page: 7

<u>Date/Time</u>	<u>Operator</u>	<u>Machine‡</u>	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>		<u>Chgs</u> er Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
Account#: 0410 Na Long#: 660837 AADHT	me: GRADUATE 20100 AC007											
5/25/2021 1:29:08PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	2/ 2.0	50	3.400	170.00	.00	.00	.00	170.00
5/25/2021 1:39:53PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	2/ 2.0	1	3.400	3.40	.00	.00	.00	3.40
5/26/2021 7:14:55AM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.0	40		131.60	Account Adjustment	.00	.00	131.60
5/26/2021 7:20:52AM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.0	4		13.16	Account Adjustment	.00	.00	13.16
5/28/2021 12:58:14PM	1 ADMIN	223657	Media Mail Single Piece	/ 0	2/ 0.7	50	4.010	200.50	.00	.00	.00	200.50
			Account Subtotals:		<u>Pieces</u>			Carrier Chg	<u>Other Ch</u>	<u>gs</u>	<u>To</u>	otal Chgs
			0410		145			518.66	.0	0		518.66

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS.

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 8

Includes Carrier(s): USPS,													
<u>Date/Time</u>	<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	<u>ZIP / Zone</u>	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
Account#: 0430 Nan Long#: 660837 AADHT	ne: UNR DEAN (20100 AC007		Y PGMS										
5/3/2021 2:36:15PM	ADMIN	223657	Priority Mail	/ 2	2/ 1.0	1	9.050 Delive	9.05 ery Confirm	nation Fee:	.00	.00	.00	9.05
5/6/2021 2:20:48PM	ADMIN	223657	Priority Mail	/ 1	0 / 11.7	1	7.700 Delive	7.70 ery Confirm	nation Fee:	.00	.00	.00	7.70
5/6/2021 2:21:20PM	ADMIN	223657	Priority Mail	/ 1	0 / 8.3	1	7.700 Delive	7.70 ery Confirm	nation Fee:	.00 0.00	.00	.00	7.70
5/7/2021 1:04:59PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 15.0	1	3.190	3.19		.00	.00	.00	3.19
5/13/2021 12:13:36PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 15.0	1	3.190	3.19		.00	.00	.00	3.19
5/20/2021 1:31:06PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	1/ 3.4	5	3.290	16.45		.00	.00	.00	16.45
5/20/2021 1:31:48PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	1/ 3.4	1	3.290	3.29		.00	.00	.00	3.29
5/21/2021 1:10:19PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 15.0	1	3.190	3.19		.00	.00	.00	3.19

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 9

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
5/27/2021 1:42:58PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 1	1/ 0.4	16	3.290	52.64		.00	.00	.00	52.64
5/27/2021 1:44:57PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 1	1/ 0.4	1	3.290	3.29		.00	.00	.00	3.29
5/27/2021 1:45:08PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 1	1/ 0.4	1	3.290	3.29		.00	.00	.00	3.29
			Account Subtotals:		<u>Pieces</u>			Carrier Chgs	<u>s</u>	<u>Other</u>	Chgs	<u>To</u>	tal Chgs
			0430		30			112.98			.00		112.98

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Page: 10

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

<u>Date/Time</u>	<u>Operator</u>	<u>Machine</u> ‡	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>		Total Spc Svc ase Rt Per Pc		Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
Account#: 0511 Nar Long#: 660837 AADHT	me: LIB ADMINIS 20100 AC007											
5/5/2021 1:14:30PM	ADMIN	223657	Priority Mail	/ 4	1/ 0.9	1		10.10 Confirmation Fee:	.00	.00	.00	10.10
5/24/2021 1:36:49PM	ADMIN	223657	Priority Mail	/ 4	4 / 14.2	1		12.50 Confirmation Fee:	.00	.00	.00	12.50
5/24/2021 1:37:23PM	ADMIN	223657	Priority Mail	/ 7	1/ 9.3	1		13.90 Confirmation Fee:	.00	.00	.00	13.90
5/24/2021 1:38:00PM	ADMIN	223657	Priority Mail	/ 7	0 / 13.4	1	9.100 Delivery (9.10 Confirmation Fee:	.00	.00	.00	9.10
5/24/2021 1:38:28PM	ADMIN	223657	Priority Mail	/ 2	1 / 15.1	1	8.550 Delivery (8.55 Confirmation Fee:	.00	.00	.00	8.55
5/24/2021 1:38:56PM	ADMIN	223657	Priority Mail	/ 8	1 / 1.4	1		15.20 Confirmation Fee:	.00	.00	.00	15.20
5/24/2021 1:39:49PM	ADMIN	223657	Priority Mail	/ 2	1 / 4.4	1	8.550 Delivery (8.55 Confirmation Fee:	.00	.00	.00	8.55

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 11

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>		Oth Chgs Per Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
5/24/2021 1:40:20PM	ADMIN	223657	Priority Mail	/ 8	1/ 0.5	1	15.200 <i>Deli</i> v	15.20 very Confirm	nation Fee:	.00	.00	.00	15.20

 Account Subtotals:
 Pieces
 Carrier Chgs
 Other Chgs
 Total Chgs

 0511
 8
 93.10
 .00
 93.10

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 12

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
Account#: 0613 Na	me: ACCOUNTS	RECEIVAB	LES										
Long#: 660837 AADHT	32000												
5/5/2021 1:18:05PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/5/2021 1:18:05PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	171	.460	78.66		.00	.00	.00	78.66
5/12/2021 1:12:21PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	179	.460	82.34		.00	.00	.00	82.34
5/19/2021 1:30:39PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	166	.460	76.36		.00	.00	.00	76.36
5/26/2021 11:03:27AN	I ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	134	.460	61.64		.00	.00	.00	61.64
			Account Subtotals:		<u>Pieces</u>			Carrier Chg.	<u>s</u>	<u>Other</u>	<u>Chgs</u>	<u>To</u>	tal Chgs
			0613		651			299.46			.00		299.46

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 13

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
Account#: 0624 Nan Long#: 660837 AADHT	ne: ALUMNI REL 55000	ATIONS											
5/3/2021 2:32:00PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/3/2021 2:35:05PM	ADMIN	223657	Priority Mail	/ 1	1/ 3.4	1	8.550 Deliv	8.55 ery Confirm	ation Fee:	.00 0.00	.00	.00	8.55
5/17/2021 1:34:10PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 1.2	1	.660	.66		.00	.00	.00	.66
5/25/2021 1:24:33PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.1	69	.460	31.74		.00	.00	.00	31.74
			Account Subtotals:		<u>Pieces</u>		(Carrier Chgs	s	Other	Chgs	То	tal Chgs
			0624		72		-	41.41			.00		41.41

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 14

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time <u>Class</u> ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs Total <u>Chgs</u> Per Pc Base Rt Per Pc Spc Svc Per Pc Oth Chg Account#: 0685 Name: HEA HEALTH SERVICE CENTER Long#: 660837|FT068|40010||||| 5/13/2021 1:16:22PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 .460 .46 .00 .00 .00 .46 1

Account Subtotals:	<u>-</u> <u>Pieces</u>	Carrier Chgs	Other Chgs	<u>Total Chgs</u>
0685		.46	.00	.46

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 15

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> (<u>Spc Svc</u>	Oth Chgs Per Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
Account#: 0695 Na Long#: 660837 AADHT	me: SAF VP STU ' 40010	JDENT AFF	AIRS										
5/5/2021 1:13:40PM	ADMIN	223657	1st Class Flat	/ 0	0 / 1.0	1	1.000	1.00		.00	.00	.00	1.00
5/7/2021 1:02:34PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.0	1	3.190	3.19		.00	.00	.00	3.19
5/12/2021 1:16:08PM	ADMIN	223657	1st Class Flat	/ 0	0 / 1.0	84	1.000	84.00		.00	.00	.00	84.00
5/13/2021 2:08:46PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.0	1	3.190	3.19		.00	.00	.00	3.19
5/21/2021 1:07:44PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.0	1	3.190	3.19		.00	.00	.00	3.19
5/21/2021 1:08:16PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 1.0	1	3.190	3.19		.00	.00	.00	3.19
			Account Subtotals:		<u>Pieces</u>			Carrier Chg	<u>S</u>	Other (<u>Chgs</u>	<u>Tot</u>	tal Chgs
			0695		89			97.76			.00		97.76

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 16

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	Spc Svc Per Pc	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
Account#: 0697 N Long#: 660837 AADI	Name: SAF ATHLE HT 40410	ETICS											
5/17/2021 1:39:14P	M ADMIN	223657	Priority Mail	/ 5	2/ 7.5	1	12.800 <i>Deliv</i>	12.80 ery Confirm	ation Fee: 0	.00	.00	.00	12.80
5/17/2021 1:39:56P	M ADMIN	223657	Priority Mail (Medium Flat Rate Box)	/ 5	2/ 7.5	1	15.500	15.50		.00	.00	.00	15.50
3/11/2021 1.33.301	INI ADMIN	220001	Thomas was (wedian Flat Nate Box)	7 3	27 7.5	•			ation Fee: 0		.00	.00	10.00
5/18/2021 9:38:06A	M ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 5.4	20	3.190	63.80		.00	.00	.00	63.80
5/18/2021 9:41:11A	.M ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 5.4	5	3.190	15.95		.00	.00	.00	15.95
G/10/2021 0.41.117	W ADMIN	220001	Turior coloci DDC Norr Macrimasic	, 0	07 0.4	Ü	0.100	10.00		.00	.00	.00	10.00
			Account Subtotals:		<u>Pieces</u>			Carrier Chg	<u>s</u>	<u>Other</u>	<u>Chgs</u>	<u>To</u>	tal Chgs
			0697		27			108.05			.00		108.05

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 17

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> (<u>Spc Svc</u>	Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
	ame: SNP ADMIN	IISTRATION	I										
Long#: 660837 AADH [*] 5/19/2021 1:21:08PN		223657	Priority Mail	/ 1	0 / 11.1	1	7.700 Deliv	7.70 ery Confirm	ation Fee: (.00	.00	.00	7.70
5/19/2021 1:30:39PM	1 ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	5	.460	2.30		.00	.00	.00	2.30
5/20/2021 1:25:00PN	1 ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.1	1	1.060	1.06		.00	.00	.00	1.06
5/20/2021 1:25:00PM	1 ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 1.4	1	.660	.66		.00	.00	.00	.66
5/20/2021 1:29:04PM	1 ADMIN	223657	Media Mail Single Piece	/ 0	0 / 9.5	1	2.890	2.89		.00	.00	.00	2.89
			Account Subtotals:		<u>Pieces</u>			Carrier Chg	<u>s</u>	<u>Other</u> (<u>Chgs</u>	<u>To</u>	tal Chgs
			0700		9			14.61			.00		14.61

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 18

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	Spc Svc Per Pc		Oth Chgs Per Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
Account#: 0707 N Long#: 660837 AADH	ame: PRS PRES	SIDENT S OFF	FICE										
5/6/2021 1:11:15PM		223657	1st Class Presorted Letter	/ 0	0 / 1.0	2	.460	.92		.00	.00	.00	.92
5/18/2021 10:21:41A	M ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0/ 1.2	4	.660	2.64		.00	.00	.00	2.64
5/20/2021 1:20:55PI	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/20/2021 1:20:55PI	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/27/2021 1:59:59PI	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
			Account Subtotals:	-	<u>Pieces</u>			Carrier Chg	<u>s</u>	<u>Other</u>	<u>Chgs</u>	<u>To:</u>	tal Chgs
			0707		9			4.94			.00		4.94

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 19

Includes Carrier(s): USF	PS,												
<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
Account#: 0730 Nan Long#: 660837 AADHT	ne: PAYROLL SE 31200	ERVICES											
5/4/2021 1:13:39PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	14	.460	6.44		.00	.00	.00	6.44
5/5/2021 1:18:05PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/5/2021 1:18:05PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	5	.460	2.30		.00	.00	.00	2.30
5/6/2021 1:11:15PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	5	.460	2.30		.00	.00	.00	2.30
5/6/2021 1:11:15PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	3	.460	1.38		.00	.00	.00	1.38
5/6/2021 1:11:15PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/10/2021 1:13:00PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/11/2021 1:21:33PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	2	.460	.92		.00	.00	.00	.92
5/12/2021 1:10:41PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 1.3	1	.660	.66		.00	.00	.00	.66
EMS Version 12.11.03											6/1/2021	1 3:3	8:30PM

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 20

includes Ca	irrier(s): USF	75,												
<u>Date/Time</u>		<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	<u>ZIP / Zone</u>	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> <u>Spc Svc</u>	<u>Oth Chgs</u> <u>Per Pc</u>	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
5/12/2021	1:10:41PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 5.4	2	1.460	2.92		.00	.00	.00	2.92
5/12/2021	1:12:21PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	8	.460	3.68		.00	.00	.00	3.68
5/13/2021	1:16:22PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	2	.460	.92		.00	.00	.00	.92
5/14/2021	1:17:07PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.4	4	.460	1.84		.00	.00	.00	1.84
5/14/2021	1:17:07PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/14/2021	1:54:24PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	95	.460	43.70		.00	.00	.00	43.70
5/17/2021	1:40:48PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 2.3	1	.460	.46		.00	.00	.00	.46
5/17/2021	1:41:28PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 2.4	10	.460	4.60		.00	.00	.00	4.60
5/18/2021	10:19:08AM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	8	.460	3.68		.00	.00	.00	3.68

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 21

Date/Time	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	Base Rt Per Pc	<u>Total</u> <u>Base Rt</u>	Spc Svc Total Per Pc Spc Svc	Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
5/19/2021 1:30:39P	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	10	.460	4.60	.00	.00	.00	4.60
5/20/2021 1:20:55P	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46	.00	.00	.00	.46
5/20/2021 1:20:55P	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	3	.460	1.38	.00	.00	.00	1.38
5/20/2021 1:24:15P	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.7	4	.460	1.84	.00	.00	.00	1.84
5/20/2021 1:24:15P	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46	.00	.00	.00	.46
5/21/2021 1:13:31P	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46	.00	.00	.00	.46
5/24/2021 1:35:23P	M ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 5.4	1	1.460	1.46	.00	.00	.00	1.46
5/24/2021 1:46:58P	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	19	.460	8.74	.00	.00	.00	8.74
5/25/2021 1:24:33P	M ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.1	5	.460	2.30	.00	.00	.00	2.30

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 22

includes carrier (s). Ooi													
<u>Date/Time</u>	<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>		Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
5/25/2021 2:26:47PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	2	.460	.92		.00	.00	.00	.92
5/26/2021 10:27:32AM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	3	.510	1.53		.00	.00	.00	1.53
5/26/2021 11:23:32AM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	9	.460	4.14		.00	.00	.00	4.14
5/27/2021 1:23:31PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/28/2021 12:52:11PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.9	145	.460	66.70		.00	.00	.00	66.70
			Account Subtotals:		<u>Pieces</u>			Carrier Chg	s	<u>Other</u>	· Chas	То	tal Chgs
			0730		369		- -	173.09			.00		173.09

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

.00

1.84

Page: 23

1.84

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time Class ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs Total <u>Chgs</u> Per Pc Per Pc Spc Svc Per Pc Oth Chg Base Rt Account#: 0741 Name: SPA STAFF PERSONNEL & DEV Long#: 660837|AADHT|38000||||| 5/6/2021 1:11:15PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 3 .460 1.38 .00 .00 .00 1.38 5/13/2021 1:16:22PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 .460 .46 .00 .00 .00 .46 Pieces Account Subtotals: Carrier Chgs Other Chas Total Chgs

4

0741

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 24

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

includes Carrier (s). USFS,											
<u>Date/Time</u> <u>Operator</u> <u>Machine#</u>	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>		Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
Account#: 0748 Name: CFO PROCUREMENT & S Long#: 660837 AADHT 33000	SUPPT SVCS										
5/5/2021 1:10:32PM ADMIN 223657	1st Class Flat	90650/1	0 / 1.2	1	1.200		rtified Fee: 3		.00 90650921	.00 489010109	6.45 92600000
Trks	#: 92148901010926000000016429					Return Re	eceipt Fee: 1	1.70			
ShipTo: Attn: REGISTRAR 12400 IMPERIAL HWY NORWALK CA90650											
5/5/2021 1:11:54PM ADMIN 223657	1st Class Flat	/ 0	0 / 1.3	1	1.200	1.20		.00	.00	.00	1.20
5/6/2021 1:10:28PM ADMIN 223657	1st Class Auto 5-Digit Flat	/ 0	0 / 1.3	1	.660	.66		.00	.00	.00	.66
5/24/2021 1:35:23PM ADMIN 223657	1st Class Auto 5-Digit Flat	/ 0	0 / 1.8	1	.660	.66		.00	.00	.00	.66
5/24/2021 1:35:23PM ADMIN 223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.5	1	1.060	1.06		.00	.00	.00	1.06
	Account Subtotals:		<u>Pieces</u>			Carrier Chg.	<u>s</u>	Other C	<u>Chgs</u>	<u>To</u>	otal Chgs
	0748		5			10.03	1		.00		10.03

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

.00

Page: 25

47.38

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time <u>Class</u> ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs Total <u>Chgs</u> Per Pc Per Pc Spc Svc Per Pc Oth Chg Base Rt Account#: 0757 Name: SAF PARKING ENFORCEMENT Long#: 660837|FP201|30220||||| 5/28/2021 1:52:13PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 103 .460 47.38 .00 .00 .00 47.38 Total Chgs Account Subtotals: Pieces Pieces Other Chas Carrier Chgs

103

47.38

0757

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

.00

Page: 26

67.62

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time Class ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs Total <u>Chgs</u> Per Pc Per Pc Spc Svc Per Pc Oth Chg Base Rt Account#: 0765 Name: PHILANTHROPIC FOUNDATION Long#: 660837|REIMB|80000|RW004||||1401 5/6/2021 1:11:15PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 36 .460 16.56 .00 .00 .00 16.56 5/20/2021 1:20:55PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 111 .460 51.06 .00 .00 .00 51.06 Pieces Account Subtotals: Carrier Chgs Other Chas Total Chgs

147

67.62

0765

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

.00

Page: 27

65.30

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time Class ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc <u>Total</u> Oth Chgs Total <u>Chgs</u> Per Pc Per Pc Spc Svc Per Pc Oth Chg Base Rt Account#: 0768 Name: TRIO SSS Veterans Project Long#: 660837|AADHT|43030||||| 5/6/2021 1:14:30PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.2 31 .460 14.26 .00 .00 .00 14.26 5/6/2021 1:16:40PM **ADMIN** 223657 Parcel Select DDU Non-Machinable / 0 0 / 4.3 16 3.190 51.04 .00 .00 .00 51.04 Pieces Account Subtotals: Carrier Chgs Other Chas Total Chgs

47

65.30

0768

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 28

With Special Service Detail With Tracking Numbers With Address

CARSON CA 90747

Includes Carrier(s): USPS,

Includes Carrier	(s): USPS,											
Date/Time	<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>		Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
Account#: 0770 Long#: 660837 /	Name: ADMISSION ADHT 42300	IS AND REC	CORDS									
5/3/2021 2:32:0	OOPM ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	13	.460	5.98	.00	.00	.00	5.98
5/3/2021 2:32:0	OOPM ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.2	3	.460	1.38	.00	.00	.00	1.38
5/3/2021 2:33::	26PM ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 2.0	1	.660	.66	.00	.00	.00	.66
5/3/2021 2:33::	26PM ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 2.4	1	.860	.86	.00	.00	.00	.86
5/3/2021 2:33::	26PM ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 4.1	1	1.260	1.26	.00	.00	.00	1.26
5/17/2021 1:27	:20PM ADMIN	223657	1st Class Letter	93536/ 2	0 / 1.0	1	.610		5.25 rtified Fee: 3.55 420 eceipt Fee: 1.70	.00 93536921	.00 489010109	5.86 2600000
		7	Trk#: 92148901010926000000016436					. Kotarri NC	жо о			
5/17/2021 1:29	:55PM ADMIN	223657	1st Class Letter	90703 / 1	0 / 1.0	1	.610		5.25 rtified Fee: 3.55 420 eceipt Fee: 1.70	.00 90703921	.00 489010109.	5.86 2600000

EMS Version 12.11.03 6/1/2021 3:38:30PM

Trk#: 92148901010926000000016443

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 29

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

includes ca	mer (3). 001 0,											
<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Spc S</u> <u>Base Rt</u> <u>Per Po</u>		h Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
ShipTo	: Attn: DIANA M 17503 KENSINGTON CIR CERRITOS CA 90703											
5/17/2021	1:32:14PM ADMIN	223657	1st Class Letter	90004/1	0 / 1.0	1	.610	.61 Certified Fe Return Receipt Fe	5.25 ee: 3.55 42090	.00 0049214	.00 4890101092	5.86 2600000
		7	Trk#: 92148901010926000000016450					return receipt re	30. 1.70			
ShipTo	: Attn: PERCY T 423 N ARDMORE AVE AF LOS ANGELES CA 90004											
5/17/2021	1:38:17PM ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 2.2	3	.860	2.58	.00	.00	.00	2.58
E (4.7.1000.4	4-20-47DM ADMIN	222657	dat Class Auto E Divit Elet	/ 0	0 / 4 0	0	000	4.00	00	00	00	4.00
5/17/2021	1:38:17PM ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 1.8	2	.660	1.32	.00	.00	.00	1.32
5/17/2021	1:38:17PM ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 4.5	1	1.260	1.26	.00	.00	.00	1.26
5/17/2021	1:41:28PM ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 2.4	8	.460	3.68	.00	.00	.00	3.68
5/20/2021	1:20:55PM ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	2	.460	.92	.00	.00	.00	.92
5/24/2021	1:23:46PM ADMIN	223657	1st Class Letter	02471/8	0 / 1.0	1	.610	.61	5.25	.00	.00	5.86
								Certified Fe Return Receipt Fe	ee: 3.55 42002 ee: 1.70	24719214	1890101092	2600000

Trk#: 92148901010926000000016481

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 30

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Includes Carrier(s): USPS,							
<u>Date/Time</u> <u>Operator</u>	<u>Machine#</u> <u>Class</u>	ZIP / Zone	<u>Lb/Oz</u> <u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	Total Spc Svc Base Rt Per Pc	<u>Total</u> <u>Oth Chgs</u> <u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> <u>Total</u> <u>Oth Chg</u> <u>Chgs</u>
ShipTo: Attn: TRANSCRIPT DEPT PO BOX 9110 WATERTOWN MA0247	1						
5/24/2021 1:26:48PM ADMIN	223657 1st Class Letter	96822/8	0 / 1.0 1	.610	.61 Certified Fee Return Receipt Fee	5.25 .00 : 3.55 420968229214 : 1.70	.00 5.86 4890101092600000
	Trk#: 9214890101092600000001	6498				•	
ShipTo: Attn: GRADUATE IV 2540 MAILE WAY HONOLULU HI 96822							
5/24/2021 1:30:30PM ADMIN	223657 1st Class Letter	55403 / 7	0 / 1.1 1	.810	.81 Certified Fee Return Receipt Fee	5.25 .00 : 3.55 420554039214 : 1.70	.00 6.06 4890101092600000
	Trk#: 92148901010926000000010	6504			Neturi Neceipt i ee	. 1.70	
ShipTo: Attn: GRADUATE ADMISS 1000 LASALLE AVE. BO MINNEAPOLIS MN 5540							
5/24/2021 1:33:54PM ADMIN	223657 1st Class Letter	32514/8	0 / 1.0 1	.610	.61 Certified Fee Return Receipt Fee	5.25 .00 : 3.55 420325149214 : 1.70	.00 5.86 4890101092600000
	Trk#: 92148901010926000000010	6511			Neturi Neceipt i ee	. 1.70	
ShipTo: Attn: OFFICE OF ADMISSION 11000 UNIVERSITY PKV PENSACOLA FL32514							
5/24/2021 1:46:58PM ADMIN	223657 1st Class Presorted Letter	/ 0	0 / 1.0 6	.460	2.76	.00 .00	.00 2.76
	Account Subtote	<u>als</u> : _	<u>Pieces</u>		<u>Carrier Chgs</u>	Other Chgs	Total Chgs
	07	770	48		63.88	.00	63.88

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

.00

Page: 31

2.30

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time Class ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs Total <u>Chgs</u> Per Pc Per Pc Spc Svc Per Pc Oth Chg Base Rt Account#: 0771 Name: SEF STUDENT ADMISSIONS Long#: 660837|AADHT|40600||||| 5/10/2021 1:13:00PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 .460 .46 .00 .00 .00 .46 1 5/11/2021 1:21:33PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 3 .460 1.38 .00 .00 .00 1.38 5/18/2021 10:19:08AM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 1 .460 .46 .00 .00 .00 .46 Pieces Pieces Account Subtotals: Carrier Chgs Other Chgs Total Chgs

5

2.30

0771

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 32

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> <u>Spc Svc</u>	<u>Oth Chgs</u> <u>Per Pc</u>	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
Account#: 0781 Long#: 660837 A/	Name: PLT PHYSIC ADHTβ4000	CAL PLANT											
5/18/2021 10:02:	34AM ADMIN	223657 T	1st Class Letter **#: 92147901010926000000016460	76712/6	0 / 1.0	1	.560	.56 Cei Return Re	.00 479010109	6.96 092600000			
672	r: /ID S. CHILES 0 AMERICAN PLAZA ODWAY TX76712												
5/18/2021 10:03:	01AM ADMIN	223657	1st Class Letter	76712/6	0 / 1.0	1	.610		rtified Fee: eceipt Fee:		.00 76712921	.00 489010109	5.86 2600000

Trk#: 92148901010926000000016474

ShipTo: Attn:

DAVID S. CHILES 6720 AMERICAN PLAZA WOODWAY TX76712

 Account Subtotals:
 Pieces
 Carrier Chgs
 Other Chgs
 Total Chgs

 0781
 2
 12.82
 .00
 12.82

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 33

Includes Carrier(s): US Date/Time	Operator	Machine#	Class	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	Base Rt	Total	Spc Svc	Total (Oth Chas	Total	<u>Total</u>
<u>Date/Time</u>	<u>Operator</u>	<u> Wacrimen</u>	<u>Cidos</u>	<u> </u>	<u>LD7 O2</u>	<u> </u>	<u>Per Pc</u>	<u>Base Rt</u>		Spc Svc		Oth Chq	<u>Chgs</u>
Account#: 0789 Nar Long#: 660837 AADHT	me: SAF PUBLIC 40010	SAFETY P	OST										
5/7/2021 1:07:29PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.4	6	.460	2.76		.00	.00	.00	2.76
5/17/2021 1:51:34PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	50	3.190	159.50		.00	.00	.00	159.50
5/17/2021 2:00:29PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	23	3.190	73.37		.00	.00	.00	73.37
5/17/2021 2:03:22PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	5	3.190	15.95		.00	.00	.00	15.95
5/17/2021 2:04:25PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	2	3.190	6.38		.00	.00	.00	6.38
5/17/2021 2:04:35PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	2	3.190	6.38		.00	.00	.00	6.38
5/17/2021 2:05:10PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	20	3.190	63.80		.00	.00	.00	63.80
5/28/2021 12:50:35PM	I ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
			Account Subtotals:		<u>Pieces</u>			Carrier Chg	<u>s</u>	<u>Other</u>	<u>Chgs</u>	<u>To</u>	tal Chgs

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

stades same (e). Set e,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 34

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>		ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>	Oth Chgs Per Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
				0789		109			328.60		.00		328.60

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 35

morado damer (b). Got G,												
<u>Date/Time</u> <u>Operator</u>	<u>Machine#</u> <u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>		<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>		Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>	
Account#: 0798 Name: Latinx Cultural Resource Center												
Long#: 660837 AADHT 47000 SA17			01 ==		0.400							
5/18/2021 9:28:53AM ADMIN	223657 Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	20	3.190	63.80		.00	.00	.00	63.80	
5/18/2021 9:35:02AM ADMIN	223657 Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	7	3.190	22.33		.00	.00	.00	22.33	
5/20/2021 1:37:12PM ADMIN	223657 Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	47	3.190	149.93		.00	.00	.00	149.93	
OZOZOZI I.OT. IZI W ADWIN	220007 Taron Goldst 220 North Massimilable	, 0	07 7.0	77	0.100	140.00		.00	.00	.00	140.00	
5/20/2021 1:46:07PM ADMIN	223657 Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	40	3.190	127.60		.00	.00	.00	127.60	
5/20/2021 1:56:53PM ADMIN	223657 Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	50	3.190	159.50		.00	.00	.00	159.50	
5/20/2021 2:08:26PM ADMIN	223657 Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	10	3.190	31.90		.00	.00	.00	31.90	
3/20/2021 2.00.20FW ADWIN	223037 Faiter Select DD0 Non-Machinable	7 0	07 7.3	10	3.190	31.90		.00	.00	.00	31.90	
5/20/2021 2:09:35PM ADMIN	223657 Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	2	3.190	6.38		.00	.00	.00	6.38	
5/21/2021 1:10:16PM ADMIN	223657 Parcel Select DDU Non-Machinable	/ 0	0 / 7.5	1	3.190	3.19		.00	.00	.00	3.19	
5/07/2004 1:40:50DM ADMIN	222657 Parcel Scient DSCF /5 Digit\ Nov Mar	phine / 1	0 / 4 0	4	1 610	1 61		00	00	.00	1.64	
5/27/2021 1:10:52PM ADMIN	223657 Parcel Select DSCF (5-Digit) Non-Mac	china / 1	0 / 1.0	1	1.610	1.61		.00	.00	.00	1.61	
EMS Version 12.11.03									6/1/2021	1 3:3	38:30PM	

1000 EAST VICTORIA ST

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 36

Recorded Date From: 05-01-2021 To: 05-31-2021

With Special Service Detail With Tracking Numbers With Address

CARSON CA 90747

Includes Carrier(s): USPS,

Machine# **Total Operator** ZIP / Zone Date/Time <u>Class</u> <u>Lb / Oz</u> Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs <u>Total</u> <u>Chgs</u> Per Pc Base Rt Per Pc Spc Svc Per Pc Oth Chg

 Account Subtotals:
 Pieces
 Carrier Chgs
 Other Chgs
 Total Chgs

 0798
 178
 566.24
 .00
 566.24

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 37

With Special Service Detail With Tracking Numbers With Address

CARSON CA 90747

Includes Carrier(s): USPS,

	. ,													
<u>Date/Time</u>		<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
Account#: 0799 Long#: 660837		e: Toro Dreamer 7000 SA116	rs Success (Center										
5/14/2021 1:2	3:43PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 5.2	5	3.190	15.95		.00	.00	.00	15.95
5/24/2021 1:4	1:15PM	ADMIN	223657	Priority Mail (Medium Flat Rate Box)	/ 1	2/ 5.9	1	15.500 <i>Deliv</i>	15.50 ery Confirm	nation Fee:	.00	.00	.00	15.50
5/24/2021 1:4:	2:34PM	ADMIN	223657	Parcel Select DDU Non-Machinable	/ 0	0 / 10.2	9	3.190	28.71		.00	.00	.00	28.71
				Account Subtotals:		<u>Pieces</u>			Carrier Chg	<u>s</u>	<u>Other</u>	<u>Chgs</u>	<u>To</u> :	tal Chgs
				0799		15			60.16			.00		60.16

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 38

Recorded Date From: 05-01-2021 To: 05-31-2021

Includes Carrier(s): USF	PS,												
<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> <u>Spc Svc</u>	Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
Account#: 2250 Nan Long#: 660837 EE101 2	ne: EXTENSION 2430 AX015	CERTIFICA	TE										
5/4/2021 1:15:03PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 4.9	2	1.260	2.52		.00	.00	.00	2.52
5/10/2021 1:14:39PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	41	.510	20.91		.00	.00	.00	20.91
5/10/2021 1:19:17PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.1	1	.710	.71		.00	.00	.00	.71
5/10/2021 1:20:17PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	153	.510	78.03		.00	.00	.00	78.03
5/19/2021 1:22:06PM	ADMIN	223657	1st Class Mail Intl Flat	/ 0	0 / 3.7	1	3.060	3.06		.00	.00	.00	3.06
5/19/2021 1:23:51PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.6	25	1.060	26.50		.00	.00	.00	26.50
5/19/2021 1:27:55PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.6	1	1.060	1.06		.00	.00	.00	1.06
5/20/2021 1:25:00PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 7.1	1	1.860	1.86		.00	.00	.00	1.86
5/20/2021 1:25:00PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 12.3	1	2.860	2.86		.00	.00	.00	2.86
EMS Version 12.11.03											6/1/2021	1 3:3	88:30PM

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 39

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>		<u>Oth Chgs</u> <u>Per Pc</u>		<u>Total</u> <u>Chgs</u>
5/20/2021 1:26:12PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.6	18	1.060	19.08		.00	.00	.00	19.08
			Account Subtotals: _		<u>Pieces</u> 244			<u>Carrier Chg</u> 156.59	_	<u>Other</u>	<u>Chgs</u> .00	<u>To</u>	<i>tal Chgs</i> 156.59

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 40

Includes Carrier(s): USF	5 5,												
<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
Account#: 2256 Nan Long#: 660837 EE101 2	ne: EXTED-OSH, 2430 AX040	A											
5/3/2021 2:30:41PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.2	69	1.060	73.14		.00	.00	.00	73.14
5/4/2021 1:14:26PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.2	1	1.060	1.06		.00	.00	.00	1.06
5/13/2021 1:18:34PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.0	6	.860	5.16		.00	.00	.00	5.16
5/13/2021 1:19:28PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 2.9	35	.860	30.10		.00	.00	.00	30.10
5/17/2021 1:34:50PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.2	54	1.060	57.24		.00	.00	.00	57.24
5/24/2021 1:35:23PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 2.5	2	.860	1.72		.00	.00	.00	1.72
5/24/2021 1:35:23PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 4.2	1	1.260	1.26		.00	.00	.00	1.26
5/27/2021 1:17:24PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.0	13	.860	11.18		.00	.00	.00	11.18
5/27/2021 1:20:48PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 3.0	19	.860	16.34		.00	.00	.00	16.34
EMS Version 12.11.03											6/1/202	1 3:3	8:30PM

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

CARSON CA 90747

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 41

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Machine# **Total Operator** ZIP / Zone Date/Time <u>Class</u> <u>Lb / Oz</u> Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs <u>Total</u> <u>Chgs</u> Per Pc Base Rt Per Pc Spc Svc Per Pc Oth Chg

 Account Subtotals:
 Pieces
 Carrier Chgs
 Other Chgs
 Total Chgs

 2256
 200
 197.20
 .00
 197.20

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 42

With Special Service Detail With Tracking Numbers

CARSON CA 90747

With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time Class ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc <u>Total</u> Oth Chgs Total <u>Chgs</u> Per Pc Per Pc Spc Svc Per Pc Oth Chg Base Rt Account#: 2258 Name: EXTED-OLLI Long#: 660837|EE101|22430|AX043||||| 5/10/2021 1:13:00PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 5 .460 2.30 .00 .00 .00 2.30 1st Class Auto 5-Digit Flat 5/14/2021 1:17:58PM ADMIN 223657 / 0 0 / 2.2 4 .860 3.44 .00 .00 .00 3.44 5/27/2021 1:23:31PM ADMIN 223657 1st Class Presorted Letter / 0 0 / 1.0 432 .460 198.72 .00 .00 .00 198.72 Pieces Pieces Account Subtotals: Carrier Chgs Other Chgs Total Chgs 2258 441 204.46 .00 204.46

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

EMS Version 12.11.03

Recorded Date From: 05-01-2021 To: 05-31-2021

6/1/2021

3:38:30PM

Page: 43

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Includes Carrier(s): USF	PS,												
<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>		Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
Account#: 2500 Nan Long#: 660837 EE101 2	ne: REGISTRATI 2460	IONRECOR	DS										
5/4/2021 1:11:08PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	56	.510	28.56		.00	.00	.00	28.56
5/4/2021 1:11:52PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	1	.510	.51		.00	.00	.00	.51
5/5/2021 1:18:05PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/5/2021 1:21:50PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	14	.510	7.14		.00	.00	.00	7.14
5/6/2021 1:09:30PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	31	.510	15.81		.00	.00	.00	15.81
5/7/2021 1:10:25PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	38	.460	17.48		.00	.00	.00	17.48
5/7/2021 1:12:45PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	25	.510	12.75		.00	.00	.00	12.75
5/11/2021 1:08:58PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/11/2021 1:20:04PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	33	.510	16.83		.00	.00	.00	16.83
											2///2	,	

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 44

Includes Ca	arrier(s): USF	PS,													
Date/Time		<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	<u>ZIP / Zone</u>	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>		<u>Oth Chgs</u> <u>Per Pc</u>	<u>Total</u> <u>Oth Chg</u>	<u>Total</u> <u>Chgs</u>	
5/12/2021	1:09:04PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	21	.510	10.71		.00	.00	.00	10.71	
5/13/2021	1:17:30PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	30	.510	15.30		.00	.00	.00	15.30	
5/14/2021	1:13:56PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	26	.510	13.26		.00	.00	.00	13.26	
5/17/2021	1:46:58PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	3	.510	1.53		.00	.00	.00	1.53	
5/18/2021	10:16:11AM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	59	.510	30.09		.00	.00	.00	30.09	
	1:29:02PM		223657	1st Class Presorted Letter	/ 0	0 / 1.0	26	.460	11.96		.00	.00	.00	11.96	
	1:05:28PM		223657	1st Class Presorted Letter	/ 0	0 / 1.0	33	.460	15.18		.00	.00	.00	15.18	
	1:19:21PM		223657	1st Class Letter	/ 0	0 / 1.0	30	.510	15.30		.00	.00	.00	15.30	
5/21/2021	1:13:31PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	22	.460	10.12		.00	.00	.00	10.12	

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 45

morades carrier (s): Ger	Ο,												
<u>Date/Time</u>	<u>Operator</u>	<u>Machine#</u>	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>		Oth Chgs Per Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
5/24/2021 1:45:49PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	36	.510	18.36		.00	.00	.00	18.36
5/26/2021 10:27:32AM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	39	.510	19.89		.00	.00	.00	19.89
5/27/2021 1:14:46PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	49	.510	24.99		.00	.00	.00	24.99
5/28/2021 12:49:44PM	ADMIN	223657	1st Class Letter	/ 0	0 / 1.0	27	.510	13.77		.00	.00	.00	13.77
			Account Subtotals:		<u>Pieces</u>		9	Carrier Chg	<u>s</u>	<u>Other</u>	<u>Chgs</u>	<u>To</u>	tal Chgs
			2500		601			300.46			.00		300.46

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 46

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time Class ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc <u>Total</u> Oth Chgs Total <u>Chgs</u> Per Pc Per Pc Spc Svc Per Pc Oth Chg Base Rt Account#: 2603 Name: EXT-MKTNG AND PROMO Long#: 660837|EE101|22470||||| 5/5/2021 1:17:07PM ADMIN 223657 1st Class Auto 5-Digit Flat / 0 0 / 2.7 .860 .86 .00 .00 .00 .86 1 5/5/2021 1:17:07PM **ADMIN** 223657 1st Class Auto 5-Digit Flat / 0 0 / 1.3 .660 .66 .00 .00 .00 .66 5/20/2021 1:29:44PM ADMIN 223657 Media Mail Single Piece / 0 0 / 13.7 3 2.890 8.67 .00 .00 .00 8.67 Pieces Pieces Account Subtotals: Carrier Chgs Other Chgs Total Chgs 2603 5 10.19 .00 10.19

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 47

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Includes Carrier(s): USI	PS,												
<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> Spc Svc	Oth Chgs Per Pc	<u>Total</u> Oth Chq	<u>Total</u> <u>Chgs</u>
Account#: 6100 Nar Long#: 660837 REIMB	ne: FOUNDATIO 80000 RW004 1												
5/5/2021 1:18:05PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
5/6/2021 1:11:15PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	13	.460	5.98		.00	.00	.00	5.98
5/7/2021 1:07:29PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.4	46	.460	21.16		.00	.00	.00	21.16
5/10/2021 1:12:00PM	ADMIN	223657	1st Class Auto 5-Digit Flat	/ 0	0 / 1.2	4	.660	2.64		.00	.00	.00	2.64
5/10/2021 1:13:00PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	3	.460	1.38		.00	.00	.00	1.38
5/14/2021 1:15:34PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	23	.460	10.58		.00	.00	.00	10.58
5/17/2021 1:41:28PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 2.4	98	.460	45.08		.00	.00	.00	45.08
5/17/2021 1:45:36PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 2.4	6	.460	2.76		.00	.00	.00	2.76
5/19/2021 1:30:39PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	1	.460	.46		.00	.00	.00	.46
EMS Version 12.11.03											6/1/2021	1 3:3	88:30PM

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 48

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>		Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
5/24/2021 1:46:58PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	46	.460	21.16		.00	.00	.00	21.16
5/24/2021 2:36:48PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.0	2	.460	.92		.00	.00	.00	.92
5/25/2021 1:24:33PM	ADMIN	223657	1st Class Presorted Letter	/ 0	0 / 1.1	1	.460	.46		.00	.00	.00	.46
			Account Subtotals:		<u>Pieces</u>			Carrier Chg	_	<u>Other</u>		<u>To</u> :	tal Chgs
			6100		244			113.04	+		.00		113.04

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 49

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

morades of	<i>arrier</i> (3). 001	0,												
<u>Date/Time</u>		<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb / Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>	<u>Spc Svc</u> <u>Per Pc</u>		Oth Chgs Per Pc	<u>Total</u> <u>Oth Chg</u>	<u>Total</u> <u>Chgs</u>
Account#: 8 Long#: 660		ne: STUDENT S 30000 RW004 51		ERVICES										
5/21/2021	1:19:30PM	ADMIN	223657	Media Mail Single Piece	/ 0	0 / 12.7	21	2.890	60.69		.00	.00	.00	60.69
5/21/2021	1:23:32PM	ADMIN	223657	Media Mail Single Piece	/ 0	0 / 12.7	9	2.890	26.01		.00	.00	.00	26.01
5/21/2021	1:24:04PM	ADMIN	223657	Media Mail Single Piece	/ 0	0 / 12.7	10	2.890	28.90		.00	.00	.00	28.90
5/21/2021	1:26:58PM	ADMIN	223657	Media Mail Single Piece	/ 0	0 / 12.7	17	2.890	49.13		.00	.00	.00	49.13
5/21/2021	1:29:54PM	ADMIN	223657	Media Mail Single Piece	/ 0	2/ 2.2	2	4.010	8.02		.00	.00	.00	8.02
				Account Subtotals:		<u>Pieces</u>		!	Carrier Chg	<u>S</u>	<u>Other</u>	Chgs	<u>To</u> :	tal Chgs
				8067		59			172.75			.00		172.75

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 50

Includes Carrier (s): USPS,											
<u>Date/Time</u>	<u>Operator</u>	<u>Machine</u>	<u>Class</u>	<u>ZIP / Zone</u>	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> <u>Base Rt</u>		Oth Chgs Per Pc	<u>Total</u> <u>Oth Chq</u>	<u>Total</u> <u>Chgs</u>
Account#: 8103 Long#: 660837 R	Name: UPWARD E NB 80000 RW004		SD3									
5/14/2021 1:39:0	04PM ADMIN	223657	Priority Mail (Medium Flat Rate Box)	/ 1	1/ 3.1	2	15.500	31.00	.00	.00	.00	31.00
5/14/2021 1:39:	31PM ADMIN	223657	Priority Mail (Medium Flat Rate Box)	/ 1	1/ 3.1	7	15.500	108.50	.00	.00	.00	108.50
5/14/2021 1:40:4	15PM ADMIN	223657	Priority Mail (Medium Flat Rate Box)	/ 1	1/ 3.1	6	15.500	93.00	.00	.00	.00	93.00
5/14/2021 1:43:4	19PM ADMIN	223657	Priority Mail (Medium Flat Rate Box)	/ 1	1/ 3.1	30	15.500	465.00	.00	.00	.00	465.00
5/14/2021 1:49:4	44PM ADMIN	223657	Priority Mail (Medium Flat Rate Box)	/ 1	1/ 3.1	9	15.500	139.50	.00	.00	.00	139.50
5/28/2021 1:08:	39PM ADMIN	223657	Priority Mail (Medium Flat Rate Box)	/ 1	3/ 3.0	1	15.500 <i>Deli</i> v	15.50 very Confirm	.00 nation Fee: 0.00	.00	.00	15.50
5/28/2021 1:10:0	7PM ADMIN	223657	Priority Mail (Medium Flat Rate Box)	/ 1	3/ 3.0	13	15.500	201.50	.00	.00	.00	201.50
5/28/2021 1:18:4	15PM ADMIN	223657	Priority Mail	/ 1	0 / 15.7	20	7.700	154.00	.00	.00	.00	154.00
5/28/2021 1:22:4	2PM ADMIN	223657	Priority Mail	/ 1	0 / 15.7	29	7.700	223.30	.00	.00	.00	223.30
EMS Version 12.	11.03									6/1/202	1 3:	38:30PM

1000 EAST VICTORIA ST

CARSON CA 90747

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 51

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	<u>Machine#</u>	<u>Class</u>		ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>		Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
5/28/2021 1:26:18PM	ADMIN	223657	Priority Mail		/ 1	0 / 15.7	1	7.700	7.70		.00	.00	.00	7.70
				Account Subtotals: 8103		<u>Pieces</u> 118			<u>Carrier Chgs</u> 1,439.00	_	<u>Other</u>	<u>Chgs</u> .00		o <u>tal Chgs</u> 1,439.00

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 52

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

<u>Date/Time</u>	<u>Operator</u>	Machine#	<u>Class</u>	ZIP / Zone	<u>Lb/Oz</u>	<u>Pcs</u>	<u>Base Rt</u> <u>Per Pc</u>	<u>Total</u> Base Rt	<u>Spc Svc</u> <u>Per Pc</u>	<u>Total</u> <u>Spc Svc</u>	Oth Chgs Per Pc	<u>Total</u> Oth Chg	<u>Total</u> <u>Chgs</u>
Account#: 8105 Name: CAPE Center for Advocacy PreventionEmpowerment Long#: 660837 AADHT 40014 SA079													
5/6/2021 2:21:51PM	ADMIN	223657	Priority Mail	/ 1	0 / 8.3	1	7.700 Deliv	7.70 ery Confirm	nation Fee: (.00	.00	.00	7.70
5/6/2021 2:22:16PM	ADMIN	223657	Priority Mail	/ 1	0 / 14.2	1	7.700 Deliv	7.70 ery Confirm	nation Fee: (.00 0.00	.00	.00	7.70
5/6/2021 2:22:45PM	ADMIN	223657	Priority Mail	/ 1	0 / 14.2	1	7.700 Deliv	7.70 ery Confirm	nation Fee: (.00 0.00	.00	.00	7.70
5/28/2021 12:55:39PM	ADMIN	223657	Media Mail Single Piece	/ 0	1 / 14.1	1	3.450	3.45		.00	.00	.00	3.45
5/28/2021 12:55:58PM	ADMIN	223657	Media Mail Single Piece	/ 0	1 / 13.0	1	3.450	3.45		.00	.00	.00	3.45
5/28/2021 12:56:15PM	ADMIN	223657	Media Mail Single Piece	/ 0	2/ 5.2	1	4.010	4.01		.00	.00	.00	4.01
			Account Subtotals:		<u>Pieces</u>		!	Carrier Chg		<u>Other</u>		<u>To</u>	tal Chgs
			8105		6			34.01	l		.00		34.01

1000 EAST VICTORIA ST

Recorded Date From: 05-01-2021 To: 05-31-2021

Page: 53

CARSON CA 90747 EMS Licensed to: CALIFORNIA STATE UNIVERSITY

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Total Operator Machine# Date/Time Class ZIP / Zone Lb / Oz Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs Total <u>Chgs</u> Per Pc Per Pc Spc Svc Per Pc Oth Chg Base Rt Account#: 8160 Name: HSI-STEM Scholars Program Long#: 660837|REIMB|80000|RW004||||510253| 5/4/2021 1:17:52PM ADMIN 223657 Media Mail Single Piece / 0 0 / 11.0 20 2.890 57.80 .00 .00 .00 57.80 5/21/2021 1:14:47PM ADMIN 223657 Parcel Select DDU Non-Machinable / 0 0 / 1.0 3.190 3.19 .00 .00 .00 3.19

Account Subtotals:	<u>-</u> <u>Pieces</u>	Carrier Chgs	Other Chgs	<u>Total Chgs</u>
8160	21	60.99	.00	60.99

1000 EAST VICTORIA ST

CARSON CA 90747

With Special Service Detail With Tracking Numbers With Address

Includes Carrier(s): USPS,

Recorded Date From: 05-01-2021 To: 05-31-2021

EMS Licensed to: CALIFORNIA STATE UNIVERSITY

Page: 54

Machine# **Total Operator** Date/Time <u>Class</u> ZIP / Zone <u>Lb / Oz</u> Pcs Base Rt <u>Total</u> Spc Svc Total Oth Chgs <u>Total</u> <u>Chgs</u> Per Pc Base Rt Per Pc Spc Svc Per Pc Oth Chg **Grand Totals** 4,559 7,058.86 .00 7,058.86